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A, A hnuaia thuziak hi ngun takin chhiar la, zawhna 1-3 thleng hian thuziak behchhan
hian chhang ang che.

Hmanlai chuan Mizo nulate hi tlangval ngai lo tur an ni a, tlangvalte thung erawh chu
nula ngai ngei ngei tur, chu achhapah a tam thei ber ngaih tum an ni. Nulain tlangval an ngaih
chuan an zak em em a, tlangvalin nula an ngaih chuan an uang em em thung. Eng vanga tlangvalte
hian nula ngaih tum em em theuh nge an nih? Hei hi kan p1 leh pute rin dan mawl tak thil pakhat
atanga chhuak a ni. Hmanlai kan pi leh pute rin dan chuan mitthi khaw kawtchhuahah a vengtu
Pawla a awm an ti a. Chu Pawla chuan lenglai thi, ngaih nei lova thite chu sairawkherh lian pui
mai hian a lo perh chiam mai thin a. A sathlum lah chu kuttum tiat tiat a ni si a, an ngalcharah
hian a lo perhsak vak zel mai a, chu chu a pan a, a ngawt ta thin a ni an ti. Chuti ang rinna avang
chuan tlangvalte hian Pawla sai lohna tur an zawn chu a tul a, an bei nasa em em theuh mai a ni.

1. He thuziak a ‘sairawkherh lian pui mai hian a lo perh chiam mai thin a’ tih thua ‘lian’
tih hi ani.
(A)  Adjective of quantity (B) Arttificial adjective
(C)  Adjective of quality (D) Double adjective

2. Hmanlai Mizo tlangvalten nula ngaih tuma nasa taka an beih thinna chhan chu

(A)  Hmingthan an duh vang

(B)  Pawlakawtchhuahah Pawla lo ngaihsan nih an duh
(C)  Pawlalungtihawi an duh

(D)  Rindanmawl leh atthlak tak an neih vang

3. He thu ziaktu hian he a thu ziaha ‘Lenglai thi” a tih hian a kawh tum tak chu
(A) tlangvallai a thi
(B)  nulapasal neih hma a thi
(C)  nuthlawi pasal neih leh hmaa thi
(D) tlangval nula ngaih nei lova thi a sawina

4. In France, the National Assembly framed a constitution in 1791 to limit the powers
of the
(A)  Wealthy men (B)  Monarchs
(C) Businessmen (D)  Press

5. Consider the following :

1. Adequate safeguards for the liberties and rights of citizen

2. An appointed President with limited power over foreign policy and the armed
forces

3. The Prime Minister responsible to the Reichstag

4. The Reichstag would be elected through Universal Adult Franchise

Which of the above are not salient features of the new Weimer Consitution?

(A) 2and3 (B) land4
(C) 2and4 (D) 3and4
6. Castes are
(A)  Cultural groups (B)  Status groups

(C)  Religious groups (D)  Service groups
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Identify the incorrect pair
(A) Mahatma Gandhi— Young India
(B)  Rajaram Mohan Roy— Sambad Kaumudi
(C)  James Augustus Hickey — The Bengal Gazette
(D) Rabindranath Tagore — The Kesari

The United Nations allowed more than Member States to contribute to
the Universal Declaration of Human Rights, adopted in 1948.

(A) 30 (B) 40

©) 50 (D) 60

Point number FOUR of The Mizoram Education Policy 2013, focuses primarily on
(A)  Universalisation of Elementary Education

(B)  Learning with understanding and comprehension

(C)  Inclusive Education

(D)  Vocational Education (Skill development)

Consider the following:

1. Forming 2. Norming 3. Performing 4. Storming
The correct order of stages of team growth is

A 2,3,41 B) 1,423

© 3,421 (D) 4,1,3,2

The focus of a school head from an instructional perspective is on
(A) persuading school staff to promote moral and ethical concepts
(B)  influencing the school community as a whole

(C) extending school staff’s liabilities and limits

(D) effort by teachers to increase students’ achievement

Which of these should ideally not be done while mentoring a teacher?
(A)  Acknowledging teacher for his/her ongoing efforts

(B)  Criticizing the teacher for their inability to provide a solution
(C)  Clear communication

(D)  Empathizing

The first hour after the trauma is popularly termed as the

(A)  Safety hour (B)  Golden hour

(C)  Important hour (D)  Minimum hour
Consider the following:

1. Check for response 2. Check for danger

3. Check for airway 4. Check for breathing

The correct sequential order of the above action plans of first aid is
(A 2-1-3-4 B 4-3-1-2
) 3-4-2-1 D)y 1-3-2-4

Project Tiger was launched in India in
(A) 1972 (B) 1973
(C) 1971 (D) 1969
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Land degradation can be controlled by

(1) Deforestation (i1)  Mining activities

(i11)  Afforestation (iv)  Overgrazing

Select the correct answer using the codes given below.

(A) (i), (i1) and (iv) (B) (i) and (iii)

(C)  (iii) only (D) (i), (i1), (iii) and (iv)

Consider the following:

Statement I : Thermal power is generated using coal, petroleum and natural gas
Statement II : Thermal power is obtained from solar energy

Select the correct answer using the codes given below.

(A) Bothstatements I and II are true

(B)  Both statements I and II are false

(C)  Statement I is correct but statement II is false

(D)  Statement I is incorrect but statement 11 is true

India is a republic which means that

(A) the State tries to reduce inequalities in income by regulating the economy
(B) the head of the State of India is a democratically elected head

(C) Indiahas parliamentary system of government

(D) Indiais absolutely independent

Consider the following:

1. A person must not be below 30 years of age

2. A person must not be of unsound mind

3. A person must have proper educational qualification

4. A person should not hold office of profit

Which of the above are not eligibility criteria to become a member of the Lok Sabha?

(A) land2 (B) 2and3

(C) 1land3 (D) 2,3and4

Which of the following articles deal with the right to equality?

(A) Article 19 to 22 (B)  Article 25 to 28
(C) Article 14 to 18 (D)  Article 29 and 30

Which of the following statements about principles of development is incorrect?

(A) Development is a quantitative process which can be measured accurately

(B)  Development depends on maturation and learning

(C) Development occurs as a result of constant interaction between heredity and
environment

(D)  Development is a continuous process

Consider the following stages of money:

1. Metallic Money (m) 2. Paper Money (p)

3. Credit Money (d) 4. Commodity Money (c)
The correct sequence of evolution from the first to the fourth stage is
(A) c—-m-p-d (B) m-p-c-d

(C) p-m-c-d D) d-p—-m-c
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The development tasks identified by Havighurst for the adolescent period include
1. Achieving assurance of economic independence

2. Preparing for marriage and family life

3. Managing a home

4. Developing adult leisure-time activities

5. Achieving a masculine or feminine social role

Select the correct answer using the codes given below.

(A) 1,3and4 (B) 1,2and5

(C©) 2,3and5 (D) 1,2,3,4and>5

Egocentrism is one of the challenges related to adolescence development. It implies

(A) moving from concrete thinking to dealing with ideas, concepts and abstract
theories

(B)  believing that everyone is watching them as if they were on stage and act in
certain ways to attract attention of others

(C)  escaping troublesome situations while, on the other hand, inviting problems
owing to creative and sometimes dangerous experiments

(D) personal sexuality and sexual identity exploration that results in a serious
relationship

Match the adolescent problems relating to

1. Self : (a) comparison with others
2. Family : (b) practices

3. School : (c) body image

4. Society : (d) atmosphere

(A)  1-(d),2-(c),3-(a),4-(b) (B) 1-(b),2-(d),3-(c),4-(a)
©) 1-(c),2-(a),3-(d),4-(b) (D) 1-(a),2-(b),3-(c),4-(d

Which of the following definition of ‘absolute poverty’ is correct?

(A) Lack of basic necessities of material well-being

(B)  The phenomenon when a section of society is unable to get even the basic
necessities of life

(C)  Denial of opportunities for living a tolerable life

(D)  Asituation in which an individial fails to earn income sufficient to buy him
bare minimum means of subsistence

Mid-Day Meal Scheme was launched in 1995 with the objective of

1. improving enrolment in the school

2. improving the nutritional status of Primary and Upper Primary school children
3. making sufficient quantity of food available to children at affordable price

4. improving the nutritional status of High School students

Select the correct answer using the codes given below.

(A) land2 (B) 3and4

(C) land4 (D) land3

Failure to satisfy societal expectations by an individual indicates
(A)  Social disability (B)  Social disorganization
(C)  Personal disorganization (D)  Individualization
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Which of the following activities is not experience learning?
(A)  Peer teaching (B)  Field trip
(C) Rotelearning (D) Laboratory experiment

The three ways of exercising leadership are
(A) Power, Authority, Influence (B)  Manipulation, Authority, Influence
(C)  Punishment, Authority, Reward (D)  Authority, Manipulation, Punishment

Community participation in school activities is

(A) tomake the school head and teachers inattentive to the school

(B)  essential to adapt education to the needs, issues, goals, and interests of all
demographic groups, especially the weaker ones

(C)  to carry out the task and not discuss any school goals

(D) essential for allowing a select group of individuals to make decisions

The person(s) responsible for planning and organizing co-curricular activities in the
school is/are

(A) theteacher who is appointed for this work

(B)  the teacher who takes interest in it

(C)  the school head

(D) all the teachers

Consider the following :

1. Illiteracy 2. Accountability 3. Regionalism 4. Nepotism
Which of the above is/are not an/the obstacle(s) that democracy faces in India?
(A) land2 (B) 2 only

(C) 2and3 (D) 1land4

Indiaranks ~ outof 183 countries in Transparency International’s 2011
Corruption Perceptions Index.

(A)  97th (B)  99th

(C) 95th (D) 125th

A national party which seeks to end social injustice against the Dalits and give them
their due place in society is

(A) Bahujan Samaj Party (B) Indian National Congress
(C)  Communist Party of India (D)  Bharatia Janata Party
Which meridian is fixed as a Standard Meridian of India?

(A) 84} °E (B) 82} °E

(C) 83K °E (D) 66 %°E

Which of these is not a component of the pedagogical leadership framework?
(A) Facilitating the teaching-learning process

(B)  Defining vision and curricular goals

(C) Leading experimentation in science laboratories

(D)  Making connections with stakeholder
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Consider the following :

(1) River Sutlej (i1)  RiverRavi

(111)  River Yamuna (iv)  River Dibang
Which of the above rivers are not the tributaries of River Indus?
(A) (i)and (iv) (B)  (i1) and (iii)
(C) (i) and (ii) (D)  (iii) and (iv)
Consider the following:

(1) Latitude (i1)  Equable climate
(i11)  Ocean currents (iv)  Tectonic force
Which of the above are factors that determine India’s climate?
(A) (i) and (ii) (B) (i)and (iv)
(C) (i) and (iii) (D)  (iii) and (iv)

Which of the following statements regarding vision is not true?

(A)  Vision must have a futuristicaim (B)  Vision must be driven by values
(C)  Visionmustindicate a direction (D)  There is no set time period for vision

The five principles of goal-setting according to Locke and Latham are
(A)  Specific, Challenge, Commitment, Time bound, Task complexity
(B)  Realistic, Accountable, Commitment, Feedback, Optimize

(C)  Specific, Observe, Measure, Time bound, Monitor progress

(D) Clarity, Challenge, Commitment, Feedback, Task complexity

Emotional and Social changes during Adolescence include
1. Emotional instability

2. Same-sex peer groups

3. Concerns and worries about the body changes

4. Actively exploring the environment and learn

Select the correct answer using the codes given below.

(A) land2 (B) 2and3

(C) Tland3 (D) 2and4

In terms of growth and development, which of the following is the first step?
(A)  Physical development (B)  Social development

(C)  Cognitive development (D)  Moral development

Knowledge of human growth and development helps a teacher to
(A)  maintain emotional control over the students while teaching
(B)  usea fair approach to practise her teaching

(C)  explain to students how they can enhance their life

(D) becertain when teaching the diverse students

Consider the following:

1. Right to safety 2. Right to consumer awareness
3. Right to information 4. Rightto be heard

Which of the above is/are the right(s) of consumers?

(A) land2 (B) 1,3and4

(C) 2only (D) 2,3and4
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Consider the following :

1. To liberise international trade by removing all barriers to international trade and
investment

2. Opening up of the world trade

3. Reducing regulations formulated to restrict the operation of the private sector

4. Expanding the private sector and limiting the role of public sector

Which of the above is/are the aim(s) of World Trade Organisation?

(A) land2 (B) 1,3and4

(C) 1land3 (D) 2 only

A situation when a given job is shared between more than the required number of
workers so that a number of workers could be removed without reducing output.
(A)  Seasonal unemployment (B)  Cyclical unemployment

(C)  Occupational structure (D) Disguised unemployment

A hnuaia hla thu hi nguntakin chhiar la, zawhna 48-50 thleng hian he hla thu
behchhan hian chhang ang che.

Nau ang a ngen mihrang Chhura,
Sawmfang ven thlengpuian.

“Siahthing tlai bung ritva lawina,
Dengla sir an belh thing,”

Chhehkhang kangmangin a deng ngei,
“Nauva lu khuai la chi,

Hawnglang ang maw, lang lo ang maw”*?
Siahthing bel phung au ve.

Khua tin hrai chawi thinlai thawngtu
Taunu tawnchham vuan e,

“Lungphang lo la, phungpuii nu,

Lam nangche nau lawm-an”,

A zuam nem maw phungpuii nun,
Hringmi leng run kai chu.

Hrinhniang hrai duh lengte then hlauvin,
Seki buhchhuak hlane.

He hla thu a Taunu-in a hlauh ber chu

(A) amah mantu (Chhuran) a sama a man
(B)  naupanglawma lam

(C)  khawchhungaluh

(D) afate then

He hla thuah hian Phung chenna hmun chu

(A)  Vau (B)  Siahthing bung

(C)  Chhehkhang (D) Kangmang

He hla thu “A zuam nem maw Phungpuii nun, Hringmi leng run kai chu” tiha ‘Hringmi
leng run kai chu’ tih hi ani.

(A) Present tense (B) Past tense

(C)  Future tense (D)  Present perfect tense
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The process by which individuals or groups are ranked in more or less enduring
hierarchy of status is known as

(A)  Social Stratification (B)  Social mobility

(C)  Social change (D)  Cultural Lag

The 2030 Agenda for Sustainable Development sets out 17 Goals. The aim of

Sustainable Development Goal 4 (SDG 4) is to

(A) endpoverty in all its forms everywhere

(B)  ensure healthy lives and promote wellbeing for all at all ages

(C)  ensureinclusive and equitable quality education and promote lifelong learning
opportunities for all

(D) achieve gender equality by ending all forms of discrimination, violence and
any harmful practices against women and girls in the public and private spheres

The following term could be used to define a person’s social heritage
(A) Culture (B)  Anthropoid
(C)  Societal norms (D)  Broadcasting

The former U.S President who introduced the policy of New Deal was
(A)  Abraham Lincoln (B)  George H.W. Bush
(C) FDRoosevelt (D)  Ronald Reagan

Consider the following statements:

1. England had an abundance of natural resources essential for industrialisation

2. England had large number of colonies to supply raw materials

3. The government in England was politically stable and encouraged growth

4. The British followed a policy of de-industrialisation in Britain

Which of the above statement(s) is/are not the reason(s) for early industrialisation
in Britain?

(A) land2 (B) 3only

(C) 3and4 (D) 4 only

Write the chronological order of the following :

1. Khilafat Movement 2. Non-Cooperation Movement

3. Jallianwala Bagh Massacre 4. Civil Disobedience Movement
Select the correct answer using the codes given below.

(A) 3,2,1and4 (B) 3,1,2and4

(C) 2,1,3and4 (D) 1,2,3and4

Consider the following:

1. Application 2. Generalization 3. Presentation
4. Association 5. Recapitulation 6. Preparation
The correct order of steps followed in the Herbartian approach to lesson planning is
(A 1,2,3,4,5,6 B) 3,1,6,4,2,5

©) 6,3,42,1,5 (D) 6,4,1,3,5,2

The stages that take place before the actual classroom teaching is known as
(A) pre-active phase (B) interactive phase
(C)  pro-active phase (D) none of these
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Consider the following statements:

1. Dialogue is used in academic sessions to explore and explain arguments

2. Interpreting and translating the meanings of one’s own words is expected by the
teacher

3. Various issues are raised and discussed to identify rational solutions

4. Ateacher asks the students to provide examples of parallel ideas and give examples
of similar ideas

Which of the above statements correspond to the characteristics and basic requirements

of teaching at the reflective level?

(A) land2 (B) land3

(C) 2and4 (D) 3and4

The school leader implements the School Development Plan

(A)  individually

(B)  through cooperation with teachers

(C) jointly with students, teachers and parents

(D) incollaboration with students, teachers, parents, community and SMC members

A home-school partnership has the advantage of
(A) increasing children’s learning capacity
(B)  improving the attendance of children

(C)  enhancing children’s behaviour

(D) allofthe above

Creating partnership with neighbouring schools can be best used for
(A) enhancing educational quality (B)  setting up a school event
(C)  coordinating customary events (D)  sharing knowledge between teachers

The tenancy of the Kothari Commission was from
(A) 1937 to 1938 (B) 1990 to 1991

(C) 1964 to 1966 (D) 1986 to 1988

Which section of the POCSO Act states that the Special Court shall ensure that the
child is not called repeatedly to testify in the court?

(A)  Section 33 (1) (B)  Section 33 (3)

(C)  Section 33 (5) (D)  Section 33 (7)

Point No. 3 of The Mizoram Prevention of Malpractices at Examination Act, 1990

provides

(A)  Duties and responsibilities of Moderator and punishment for contravention

(B)  Duties and responsibilities of Paper Setters and punishment for contravention

(C)  Duties and responsibilities of Persons entrusted with custody of question
papers and punishment for contravention

(D)  Punishment for refusal to work for the conduct and declaration of results of
examination

An atom bomb was dropped on Hiroshima in Japan on the
(A)  5th August 1945 (B)  11th August 1946
(C)  12th September 1946 (D)  6th August 1945



67.

68.

69.

70.

71.

72.

73.

74.

- 10 -
Which system is used by the government of India for instant news gathering and on
the spot real time news coverage through Prasar Bharati?

(A)  Thuraya system (B) INSAT System
(C) SATCOM (D) SATPHONE
Consider the following :

(1) Indigo Revolt (i1)  Tana Bhagat Movement
(i11))  Pabna Agrarian unrest (iv)  Munda Uprising

Which of the above movements are connected with the Tribal Movement during
freedom struggle period in India ?

(A) (i1)and (iv) (B) (i) and (ii)

(C) (i) and (iv) (D) (i) and (iii)

The first ruler of independent Greece was

(A) MihalyKarolyi (B)  Prince Otto

(C)  Joseph Pilsudski (D)  Count Camillo di Cavour

After World War I, Hitler joined a small group of young men to form the German
Workers Party in 1919, which was renamed

(A) National Secular German Workers’ Party

(B)  National Socialist German Workers’ Party

(C) National Socialist Democratic Alliance

(D)  Natural Socialist Democratic Party

Consider the following:

1. The tasks are distributed throughout the year and arranged appropriately

2. A collection of lesson plans centered on a particular topic or lesson

3. Indicates the learning objective, content, technique, material, application and
evaluation for every lesson that is instructed

Which of the above about a Unit plan is/are true?

(A) land2 (B) land3

(C) 1 only (D) 2 only

In order to determine whether or not a student has understood a skill or lesson, a
teacher uses assessment in the classroom. What kind of assessment is he using?

(A)  Assessment of learning (B)  Assessment for learning
(C)  Assessment in learning (D)  Assessment as learning

The objective of Social Science teaching is to help the students gain insight into
(A)  Spiritual value (B)  Economic value
(C) Political value (D)  All of these

Which of the following statements about growth and development processes is true?
(A)  Growth is natural while development needs external intervention

(B)  Both are natural processes

(C)  Development follows if growth is satisfactory

(D)  Without external interference, both processes continue to run simultaneously



75.

76.

77.

78.

79.

80.

81.

82.

-1 -
Which of the following is an adolescent’s developmental task?
(A)  Acquiring the physical skills required for common games
(B)  Acquiring fundamental reading, writing, and math skills
(C) Developing a sense of right and wrong and the ability to distinguish between
them

(D)  Achieving emotional independence from elders

Which period of development is called ‘Period of storm and stress’?

(A) Early childhood (B) Later childhood
(C) Adolescence (D)  Adulthood
Impeachment means

(A) aform or process of civil government
(B) asolemn promise
(C)  asituation, typically one involving opposing parties in which no progress can

be made
(D) aformal document charging a high ranking public official with misconduct in
office

Divisions among the people on the basis of are much harder to reconcile.

1. Religion 2. Gender 3. Race 4. Language

Select the correct answer using the codes given below.

(A) land2 (B) Tland4

(C) 3and4 (D) Tland3

The type of federation practised in India is

(A) Coming together federation (B)  Asymmetric federation

(C) Holding together federation (D)  None of these

Consider the following two columns:

1. Behavioristic theory (a) Information is received, organized, stored and
of learning retrieved by the mind

2. Constructivistic theory (b) Behaviours are learned from the environment
of learning

3. Cognitivistic theory (c) Learners construct knowledge rather than just
of learning passively take in information

Select the correctly matched answer using the codes given below.

(&) 1-(@),2-(b),3-() (B) 1-(c),2-(b),3-(a)

(€ 1-()2-()3-(@) (D) 1-(a),2-(),3-(b)

It spans a year and consists of both curricular and co-curricular activities.

(A)  YearPlan (B) Lesson Plan

(C)  UnitPlan (D) Both(B)and(C)

What pedagogical approach was suggested in NEP 2020 to improve learning outcomes
and to promote “experiential learning” as well?
(A) Game-based learning (B)  Problem-based learning

(C) Literacy-based education (D)  Competency-based education
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Which among the following is preferably not used during the process of observation
and feedback?
(A) Starting the conversation with the errors made by the teachers
(B)  Objective suggestions for improvements
(C)  Make the teacher feel comfortable before feedback session
(D)  Cross checking with teacher to clarify the main pointers of feedback conversation

The headquarters of railway is Mumbai CST.

(A) Eastern (B)  Northern

(C)  Southern (D) Central

The Sher Shah Suri Marg connecting is known as the National Highway No.1.
(A) Delhi and Amritsar (B) Lehand Manali

(C)  Srinagar and Kanyakumari (D) Delhiand U.P

On the basis of nature of products, industries are classified as
(A)  Private and Public sector Industries

(B) Heavy and Light Industries

(C)  Large-scale and small-scale Industries

(D)  Village and Cottage Industries

DIETs were established as a result of one of the suggestions made by
(A) National Policy on Education (1968)

(B)  National Policy on Education (1986)

(C)  National Policy on Education (2020)

(D)  Secondary Education Commission (1952-53)

The National Policy on Education 1986, as modified in 1992, placed a strong emphasis

on the use of educational technology to improve the quality of education. The policy

statement led to two major centrally sponsored schemes, namely

(A)  Central Advisory Board of Education (CABE) and Environmental Orientation
to School Education (EOSE)

(B)  Operation Blackboard (OB) and Non-Formal Education (NFE)

(C)  Educational Technology (ET) and Computer Literacy and Studies in Schools
(CLASS)

(D)  Indira Gandhi National Open University (IGNOU) and Shramik Vidyapeeth (SVP)

“MNCs keep in mind certain factors before setting up production”. Identify the
incorrect option.

(A)  Availability of factors of production at a low cost

(B)  Nearness to the market

(C)  Presence of a large number of local competitors

(D)  Favourable govenment policies

The process whereby real per capita income of a country increases over a long
period of time 1s known as

(A)  sustainable development (B) structural development

(C)  social development (D)  economic development
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The task of measuring GDP is undertaken by the
(A) State government (B)  Provincial government
(C)  Central government (D)  All of these

‘Chanvo chu insem tlan dial dial a tha, pusum tel bik awm lovin’. He thuah hian ‘pusum tel’
tih hi tawng upa a ni a, aawmzia chu

(A)  Chang tlem bik sawina (B)  Changtawk sawina

(C)  Inzattheuha insem sawina (D)  Chang tha bik sawina

Mizo tawng upa a ‘Ngawi hem tawng’ tih awmzia chu
(A) Ringtakatawng, tawng lawng lawng (B)  Muangchanga tawng
(C) Zawiteatawng, tawng sep sep (D)  Rangtaka tawng, tawng zung zung

A hnuaia thuziak hi chhiar la a dik ber thlang chhuak ang che.
(A) Rinnainthlawk in valengila (B)  Rinnainthlawkin va leng ila
(C) Rinnainthlawk in valengila (D) Rinnainthlawkin valengila

A hnuaia thuziak hi chhiar la, thuziak dan tur dik taka ziak thlang chhuak rawh.
(A) Ininbulaekinahzuaninruelo? (B) Ininbulaekinahzuaninruelo?
(C) Ininbulaekinahzuaninruelo? (D) Ininbulaekinahzuaninruelo?

Which time-table is helpful in allotting work when some teachers are absent?
(A)  Vacantperiod time-table (B)  Class time-table
(C)  Teachers’ time-table (D) Homework time-table

Assessment is

(A) asystematic process of determining to what extent instructional objectives
has been achieved

(B)  theactof judging the amount of learning that took place as a result of learning
and teaching

(C)  athorough yet supportive and developmental process designed to ensure that
all teachers have the skills and support they need to carry out their role effectively

(D)  none of the above

refers to the content of what is to be taught and the knowledge,

skills and attitudes which are to be deliberately fostered; together with stage specific
objectives.

(A) Curriculum (B)  Syllabus

(C)  Textbook (D)  None of these

Consider the following statements:

1. Overt Curriculum refers to the topics or subjects which are in the curriculum but
are not taught for one reason or another

2. Hidden Curriculum is unintended or unnoticed curriculum which is often unwritten

Select the correct answer using the codes given below.

(A) 1istruebut 2 is false (B) 11is false but 2 is true

(C) Both1 and 2 are true (D)  Neither 1 nor 2 is true
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100. Which school forum is suitable for introducing new teaching programme?
(A)  Teacher forum (B)  School Assembly
(C)  Parent-teacher forum (D)  All of these



